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Instructions:
0 Question number 1 to 20 are of short answer type.

0 Each question carries 10 Marks.

Peter takes 6 minutes to draw a cookie. If he starts drawing 7 cookies at 9 a.m. , at
what time will he finish the drawing?

WBIT 6 0EET WY, MEMP L O HBHRE 7 WEE
S EMERRTERE ?

WIBIT 6 DHET —RHT. WREMP L 0 AFHE 7 RHT
f R IE AT ARHR T BUE?

How many minutes are there in one day?

—REZDPE?
—RBEZLDDH?


mac


3)

There are 20 children at a picnic. Each child has 2 toys and 4 chocolates. How many more
chocolates are there than toys in all?

B2 EETFEHE. SEXTR 2 EAREN 4 RGN, HRONHELT

BNEEREASSD?

B2 NMETFHEFE. SMETR2IMREN4RGRSN , HRONKEL:

BREHAZZD?

The difference between greatest and smallest two digit numberis
BANRPHIMUBMZER
BANRPIAUBZER

How many vertical pillars, each of 50 centimetres are required to touch the height of 60 metres
and 100 centimetres?

FEZOREENET , SR 50 10 F8EHEEME 60 2R 100 20 HISE ?

FESZOREENET , 818 50 E K e 60 KM 100 EXNSE ?



6)

Find the missing number in the pattern.
RERFROWBE.

RHEBRPROVEF,

13,16, __, 22,25

Sandra buys 5 apples, 3 mangoes, 1 banana and 2 tomatoes from the market. How much
money will she have to pay?

D RMGEET 5 EER, 3ECR, 1 BEEN 2 AFN. nEFZD
g2
BHMNTIFMET 5 NER, IPMER, 1 IMNEEHN 2/MNELN, nEFZD

2




8)

In the given multiplication, find the value of A

ERENTOET | Rt A BE. 2 3
x 5

EAEMTET | Rt A BE. 215

9)

Mother ordered 4 trays of eggs. Each tray contained 10 eggs. 5 eggs were rotten and 12 were
cracked. How many good eggs were there?

IRIREE T NERE, SERERE 10 HEE. SEEERH , 12 EHEH

H, NRBEZLHFEHER?

BELTHENE, BMEEF 10 MNEE, 5 MBERE , 12 MEER

H, NRBZLHEHER ?

10)

Which of the following is 8 fours?

T3 —1E2 8 @M ?

BTRH—2 8 4N ?



(1)

There are 8 bicycles in a cycle stand. How many wheels do the 8 bicycles altogether?

BITEFERESWATE, ESWETERES VAR T ?
BITEFRABESHAEITE. X8WBETERABSIOIMRTF?

The sum of three consecutive even positive number is 60. What is the sum of the largest and
smallest number?

4

ZEERBEBNNR 60, FRANMKPHNBHNNESZD ?

ENMELBEHNNRZ 60, FANMKPHBENNESD ?



13)

How many more flat faces does solid A have than solid B?

MR ALV B ZRETE?

MEALLNKB ZZDANEE?

ﬁ

SolidA SolidB

14)

A container can hold 15 liters of juice. John pours 4 liters and 250 milliliters of juice into the
container. How much more juice can the container hold?

—ERBARMN 15 AFART. NI 4 2FAM 250 EARRITEAIARSRP,

RERBERBMZORIT?



15)

The product of two numbers is 72 and their sum is 17. What is their difference?

MEHATERR 72, EMNMNE 17, FETMEBEESD ?

ANBHFERR 72, EMINME 17, BNEZ2?

What is the fewest number of squares you can add to the shape to make it a rectangle?
BLAURNSDEERESREERNARAE?

"/

DELAMZ DN ER T REEEKRNREE ?

&
\\

17)

How much time does the long hand of a clock take to complete 5 rounds?

BERNRUETSBESA?

HROKHET 5 BFEESKATE ?



18)

Michael watched a show for 45 minutes. If the show ended at 2:30 p.m., when did it start?

EOFT 45 nENEHEH, MBEHETF 2:30 F3R , AEAERERMLE ?

BRRET 45 7T H., MRBEHETF 2:30 R , AT LABHMRITIA ?

19)

If*+O+O=42and O=12,thenthevalueofikis :

EENHERZD?

EENNMEEZD?



20)

The date of birth of four persons are given below.
BT 2 {E AR 4 B H,

UTROEMNAREE B,

Name Date of Birth
BAF H 4 B Hj
BAF H 4 B Hj
Nicole 05-11-1988
Alice 02-11-1988
Heather 11-10-1989
Emma 13-10-1988

Who is the oldest among them?

eIz , ERFLHZEK?

ez @, R FLHEK?

END OF PAPER




